
 

 
 

GCSE Business: 1BS0 Edexcel 
discuss questions (6) 

 
You need to show you understand the consequences, by making at least five linked, 

development points. This could be one impact/factor/benefit/drawback etc with 
five linked strands or two impacts/factors/benefits/drawbacks with a total of five 

linked strands i.e. 2 on one and 3 on another. 

 
Q: Discuss at least one factor that influences the choice of location for a small business. 

One factor is… 

 

Meaning that… 

 

Leading to… 

 

Another factor is… 

 

Meaning that… 

 

Leading to… 

 

Resulting in… 

 

 

Q: Discuss at least one factor that influences the choice of location for a small business. 

One factor is… 

 

Meaning that… 

 

Therefore,… 

 

Leading to… 

 

Resulting in… 

 

And finally,… 

 



 

 
 

GCSE Business: 1BS0 Edexcel 
analyse questions (6) 

 
You need to show you understand the consequences, by making at least five linked, 

development points. This could be one impact/factor/benefit/drawback etc with five 
linked strands or two impacts/factors/benefits/drawbacks with a total of five linked 

strands i.e. 2 on one and 3 on another. This time with context/application. 
 

 
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

Taken from Edexcel Sample Assessment Material 
 

Q: Analyse the impact on Fender of charging high prices for its musical instruments. 

One impact is… 

 

Meaning that… 

 

Leading to… 

 

Another impact is… 

 

Meaning that… 

 

Leading to… 

 

Resulting in… 

 



 

 
 

 

Q: Analyse the impact on Fender of charging high prices for its musical instruments. 

One impact is… 

 

Meaning that… 

 

Therefore,… 

 

Leading to… 

 

Resulting in… 

 

And finally,… 

 

 

  



 

 
 

GCSE Business: 1BS0 Edexcel 
discuss questions (6) 

 
You need to show you understand the consequences, by making at least five linked, 

development points. This could be one impact/factor/benefit/drawback etc with 
five linked strands or two impacts/factors/benefits/drawbacks with a total of five 

linked strands i.e. 2 on one and 3 on another. 

 
Q:  

One impact/factor/benefit/drawback (use the word in the question) is… 

 

Meaning that… 

 

Leading to… 

 

Another impact/factor/benefit/drawback (use the word in the question) is… 

 

Meaning that… 

 

Leading to… 

 

Resulting in… 

 

 

Q:  

One impact/factor/benefit/drawback (use the word in the question) is… 

 

Meaning that… 

 

Therefore,… 

 

Leading to… 

 

Resulting in… 

 

And finally,… 

 



 

 
 

GCSE Business: 1BS0 Edexcel 
analyse questions (6) 

You need to show you understand the consequences, by making at least five linked, 
development points. This could be one impact/factor/benefit/drawback etc with five 
linked strands or two impacts/factors/benefits/drawbacks with a total of five linked 

strands i.e. 2 on one and 3 on another. This time with context/application. 

 
Q:  

One impact/factor/benefit/drawback (use the word in the question) is… 

 

Meaning that… 

 

Leading to… 

 

Another impact/factor/benefit/drawback (use the word in the question) is… 

 

Meaning that… 

 

Leading to… 

 

Resulting in… 

 

 

Q:  

One impact/factor/benefit/drawback (use the word in the question) is… 

 

Meaning that… 

 

Therefore,… 

 

Leading to… 

 

Resulting in… 

 

And finally,… 

 

 


